[loBTOpenne

(3m - 4n)(3m +5n) - (4,5m — n)(2m + 4n);
(x? +2))(x° +7y) - 6x>(x* - 8y).



1. npeﬂCTaBbTe B BHAEC CTCIICHH BLIDAXKCHHUC.
67 InFa 2L
(_a ) ) (_a ) o b 5 s

a® (%) a".



2. VYIIpOCTHUTE BbIPpaXKeHHE:

(3m —4n)(3m +5n) - (4,5m — n)(2m + 4n) ;
(x? +2)(x° +7y) - 6x> (x* - 8y).



3. YnpocTuTe BbIpaXKeHHE:

y-2)(y+3) - - +(5-y)(y +5)



4. Pa3znoxxure Ha MHOXKHUTEIH:
26x> —14x%y +8x?;

—15a°b%c -10a’b?c? —5ab%c’.



5. Pa3znoxure Ha MHOXHTEIH:
S5a +5b—-am - bm

I8 - Gg*
27a° - b’

Ra’h? — 72a%c?



